[6+6+8 points] 5
5. Let E={(z9,2):2°+y°<3,0<z<y,and 0<2< 3}. '

a. Fill in the boxes so that the following equality holds for all continuous functions f where (z,, z)
are the rectangular coordinates.
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b. Fill in the boxes so that the following equality holds for all continuous functions J where (1,0, 2)
are the cylindrical coordinates.

T vz | | 3
//Ef(x,y,z)de / / f(rcosf,rsind, 2) r dzdr df

c. Fill in the boxes so that the following equality holds for all continuous functions f where (p, ¢, 0)
are the spherical coordinates.
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